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SECTION A
/D%A = 4/3 find the value of cosA.

“Find the length of an arc of a circle of radius 21cm and central angle 120°,

h’/ﬁd the area of the largest triangle that can be inscribed in a semicircle of radius a cm

Q4. Fhd HCF of 2°x3%and2%x 3?

, : .

[ ythe value of sin 45° + cos 45°

Q6. Find the cuordinates of centroid of a triangle whose vertices are (-1 ,-1), (0,-4) (2, 1).

SECTION B :
Wh term of the A.P. 8,14, 20, 26 .... will be 72 more than its 41 term. |

Wss 32760 as the product of its prime factors,.

i

Q9. Eiada cubic polynomial whose zeroes are —1, 2 and -3 respectively.

Wistance of P(x,y)fromA(5,1)andB(—1,5)are equal, then prove that 3x = 2y.
Q11. If A-B"and C are interior angles of a triangle ABC, then show that )
3 sin B+C = cos A @
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Cd7-T perimete: of a semicircular protactor is 72 am, find its radiue.

SECTION € '

Q13. Soive the follevsing pair of linear equations.

231 x+ 148y = 527.
148 x + 231y 5/610.

MM'BO. dx:
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(1x6=6) &_/1
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(2x6=12)

( 3x30=30)

Qi4. Gelid’s division lemma to show that the square of any positive integer is either of the form 3mor3m+1
Gr some integer m.

What 3y/5 is an irrational number.

: y I
7If the equation ( 1+ m2)x*+ 2mex + ( ¢ —a %) = 0 has equal roots, then shmu%that c=a?(1+md).

Me fifth term of the A.P. is zero , show that its 33" term is four times its 12™ term.

Q1 point P divides the line segment joining A( 3 ,-5) and B(- 4, 8) such that AP = k:1. If P lies on x+y=0

then find the value of k. s PB

Q19. Fihd the vaiue of cos 45° geometrically .

Q20. Evaluate :
_gn! 60° + 4 cos 245° + 3 sec 230 %+ 5 cos 2 90° .

../ cosec 30" + sec 60" = cot” 307

Q21 AFrove that
(sin A+ cosecA)?+(cos A+secA)’=7+tan’A+cot “A.
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22. In the figure ziven below AB and CD are two diam.ters of a cicle ( with centre O ) perpendicular to each other \SU‘\V §
d Opis the diaineter of the smaller circle . If OA = 7 ¢, find the area of the shaded region. \‘n/c

-~ . oy SELTICN P s {4x8=32)
Q23 An old iady wiuie 2olane g nd the ‘2'553?1" immediately called for the.megical aid, thus the
plane left with the lady 30 minutes later than the scheduied time. Thus in order to reach its destination 1500 km
away in time, i* has to increase its speed by 250 km/hr than its usual speed . Find the usual spéed of the pianiz znd
the value depicted by the captain. _ 7 :
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(24,0bTain ali the zeroes of the polynomial 2 x ‘=10 x* +5 x %+ 15x—12, if two of its zeroes are # 3 and —f3
2 {2 J2.

common differenceteing 1, 2, 3 prove that S,;+S53=2 =}, T, =

@ IfS;,S22nd S ; are the sum of n terms of three A.P's , the first term of each beingygi_tx*nd the respective

Q26. Dr e graph of equation 4x—-3y-6=0 and x+3y—9=0 . Determine the vertices of the triangle formed
b se Jines and y — axis. Shade the triangle.

Q27 angle of elevation of a cloud from a point 60m abiove the surface of a the water of a lake is 30° and the
gle of depression of its shadow in water of the lake is 60:° . Find the height of)he cloud from the surface of water.
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a porroetween them on the road, the angle of elevation of the top of the poles are 60°ard 30°, respectively. Find
the height of the poles and the distance of the point from the poles.
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Q29. Find the area of quadrilateral formed by joining A( 3 ,~1 ),B(9,-5),C(14,0)and D(9,19).

Q30. In the figure given below , ABC is a quadrant of a circle of radius 14 cm and semicircle is drawn with BC as
diamete d the area of shaded region.
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